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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GUls—d

(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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A @rs P H AR (04) < I wE 7
TAG Y B foy SIM (19) e fEiRd ¥
iR o g9 W ®aa a1 (02) YT @ SR oA
g

1. Discuss the functions and role of World Trade

Organisation (W. T. O.).
fd99 AR WS & AT U4 7ged &I FHIET DI |

2. Discuss the Factor Price equalisation theorem in the
case of two factors and two commaodities.

a gEd del gl @ Hed H -
RTAIGROT RIgT= 1 e BT |

3. State briefly the purposes and functions of
International Monetary Fund (I. M. F.) and give an
appraisal as to what extent it has successfully brought
international monetary co-operation ?

U H SRS q&l BN & Il Ud BRIl Bl
qaEY T MRS Aifed WA dgM H 98 Faf
q% Al 8 GH ¢ 7

4. Distinguish between Tariffs and Quotas. Consider their

relative importance as methods of Protecting domestic
industries.

qCHR qAT BT & 419 IR ISy | O¥e e Bl
W o 3 foly QM & AUREG "E@ B Ui
HIRTY |
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (75 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type

qre

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

gre ‘@ ¥ s (08) oY ST W ¥ W F
A% Y @ forv e (08) o fwiRd €l
el @ g4 & dadT IR (04) YT B IR o
gl

Explain Gross Barter terms of trade.

gy a¥q fafay R I @1 e i |

Write a short note on Foreign Trade Multiplier.

faeelt MR [ore W v e fewof) forRey |

Explain mint par parity theory of exchange rate under
Gold Standard.

WO & Iid faf i R & <hr 9ar Rigid @
RAT DI |

Describe Trade Related Property Intellectual Rights
(TRIPS).

AR TR qifgd THeT VBRI HT q0F DIV |

Write a short note on ‘SAARC’.

D’ W Ve [iera femol forkau |
Merits of Flexible Exchange Rate System. Explain.

ArER faf I <% YITell & U | ARAT I |
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7.  What is Leaontif’s Paradox ? Explain.

forEI fORTEMIRT /T 8 ? 2T BT |

8. Distinguish between Balance of Trade and Balance of
Payments.

YR e TAT A Ferd H SR W DI |
Section—C / U1
(Objective Type Questions) / (@S J)
Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.

dlc ;. @ue T H 9 (10) TGS W @ W 2 | RS
7 & forv ve (01) o iR B 39 @ @
T oo arfear € |
Select the correct answer :
e IR M
1. Who wused the Production Possibility curve in
International Trade theories ?
(@) Haberler
(b) Marshall
(c) Ricardo
(d) Adam Smith

IR AR RIga § Sded g=ITaT Ib @l
TN foem faam ?

(@) THRR
(@) e
@) Rerer
(@) veA R
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2. Which of the following Trade policy was accepted by

Adam Smith ?

(@) Protectionism

(b) Free Trade

(c) Controlled Trade

(d) Cartel

ffoRed # 9 ved WY g1 69 yoR amrR Aifd

& WHR fbar 1 ?

(31)  ReToraTe

(@) @dd AR

@) FEkE R

(@) @rc
3. Heckscher-Onhlin theory of Trade is based :

(@ Two countries

(b) Two factors

(c) Two commodities

(d) All of the above
TIRRICR-3NEfer & @R Rigrd amRd ¢
(@) < v
@ < |wrE
() a7
(@) Swfw i
4. Single factoral terms of trade was propounded by :

(@) Taussing
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(b) Marshall

(c) Jacob Viner

(d) J.S. Mill.

UGG AT SATIR I BT Ffodre o 2
@) e A

@ #Arie A

(6) Siad qER |

(@) o wa fia A

Employment Multiplier was developed by :
(@ R.F.Cohen

(b) Marshall

(c) Samuelson

(d) Ricardo

RIGHTR T[0T I faebRyd fovar :

(@) SR TH. PIEd

@ ¥

() g

@ Rerel

If MPC = 0.5, then the multiplier (K) will be :
(@ 2

(b) 3

(c) 4

(d) 05
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A AT ST JgRT (MPC) = 05 &, 1 0@ (K)
&7 A EAT

(@) 2

@ 3

(|) 4

(?) 05

Which of the following items is not a part of Current
Account of Balance of Payment ?

(@ Merchandise Trade

(b) Trade in Services

(c) Travel

(d) None of the above

FefoRad # 9 SI-91 78 I 4o @ 9 T
4 Wi T § ?

(&) G AR

(@) ARl & @R

(w)

@) SwEa § Y P T

In which of the following is replaced by the W. T. O. :
(@ UNCTAD

(b) GATT

(c) IMF

(d) IFC

A-15P. T. O.



10.

[8] S-546

frfeRad § @ @9 favg AOR GTed @ w9 H
RenTfue gam ?

(31) dfdcrs

@ T

(@) . W UW.

(8) orms. T, ¥

In which year, Indian Rupee was devaluated first time ?
(a) 1947

(b) 1949

(c) 1966

(d) 1991

WG Y BT g Ugell IR fba qy fadar war ?
(31) 1947

(@) 1949

(|) 1966

(@) 1991

In 2015, India’s Share in World Trade was :

@ 2%

(b) 3%

(©) 4%

(d) 5%

q¥ 2015 ¥, MR &7 fa9q AR § Yforere 379y or
(@) 2%

@ 3%

@) 4%

(?) 5%
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